




 

 

 

 

 

 



 

 

 



 

 

 

 

 

 

 



 

 

 

 

 



 

 

 

 

 

 

 

 

 



 

 

 





 



 

 

 

 

 

 

http://www.merseysidewda.gov.uk/waste-recycling/household-waste-recycling-centres-hwrcs/


 

 

 













𝒍𝒐𝒈𝒊𝒕 (𝑷𝒓( 𝒀𝒊  =  𝟏))    =   𝜶 +  𝜷𝟎𝑻𝒊 +   𝜷𝟏𝑰𝑴𝑫𝒊 +   𝜷𝟐𝑯𝒊 +  𝜷𝟑𝑬𝒊 + 𝜷𝟒𝑰𝒊  + 𝜷𝟓𝑴𝑪𝒊   

𝑷𝒓( 𝒀𝒊  =  𝟏)

𝑇𝑖,

𝐼𝑀𝐷𝑖 

𝐻𝑖,

𝐸𝑖,

𝑰𝒊

𝑴𝑪𝒊

𝛼

𝒍𝒐𝒈𝒊𝒕 (𝑷𝒓( 𝒀𝒊  =  𝟏))    =   𝜶 + 𝜷𝟎. 𝑻𝒊 +  𝜷𝟏𝑯𝒊 +   𝜷𝟐𝑸𝒊 +  𝜷𝟑𝑫𝒊 + 𝜷𝟒𝑴𝒊  

𝑷𝒓( 𝒀𝒊  =  𝟏)

𝑇𝑖,

𝐼𝑀𝐷𝑖 

𝐻𝑖,

𝐸𝑖,

𝑰𝒊

𝑴𝑪𝒊

𝛼



𝒍𝒐𝒈𝒊𝒕 (𝑷𝒓( 𝒀𝒊  =  𝟏))    =   𝜶 + 𝜷𝟎. 𝑻𝒊 +  𝜷𝟏𝑯𝒊 +   𝜷𝟐𝑸𝒊 +  𝜷𝟑𝑫𝒊 + 𝜷𝟒𝑴𝒊  

𝑷𝒓( 𝒀𝒊  =  𝟏)

𝑇𝑖,

𝐼𝑀𝐷𝑖 

𝐻𝑖,

𝐸𝑖,

𝑰𝒊

𝑴𝑪𝒊

𝛼










